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PAKT - A
Answer a// questions.

blanks :

N/m2.
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2. Choose the correct answer from the
choice :

(a) The essential elements needed to
accelerometer are

(i) Dashpot and spring

(ii) Mass and dashpot

(iii) Spring and mass

(b) The metal alloy used in Type J thermocouple
is

(i) Copper constantan

(ii) Iron constantan

(iii) Chromel constantan

(c) The ratio of absorute viscosity to density of
the fluid is

(i) Specific viscosiry

(ii) Relative viscosity

(iii) Kinematic viscositv
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pressure

I x5:5

Piezo electric :

Piezo resistive

Hot wire gas

bridge

Rotatory speed

(d) . Which is an active transducer ?

RTD
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4. Define the follo-rving and also write its SI unit :

2x 5=10

(a) ViscositY

(b) TemPerature

(c) Pressure

(d) DensitY

(e) Force

PART - B

Answer any three questions'

5. (a) Explain photoelectric pressure transdutttl

(b) ExPlain a method for

below tmm of Hg'

(c) Explain the constnrction and working of a

pressure transducer using LVDT and
6

bellow.

measuring Pressure
)

5x3:15
6. ' ExPlain the following :

(a) Photoelectric tachometer

(b) Cantilever beam load cell

(c) Dead-weight tester"
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7 . (a) A strain gauge of resistance 350e and gauge
factor of 1.5 is bonded to steel traving an
elastic limit stress .of 400 MN/m2 and
modulus of elasticity is 200 GN/m2. Calcu_
late the change in resistance

(i) due to change in stress equal to
L/20th of elastic range

(ii) due to change of temperature of 20oC
if the material is advance alloy. The

;Hffi;'ff?:Tffi,:oefficient :'
O) Explain displacer'q{pe densitometer. 5

(c) Explain LVDT accelerometer. 5

(a) Explarl liquid filled
and KID.

(b)- E4plain the construction and working of

yiscometer. g

8. system thermometers
7
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